
BдTTISTf LLA @, 

M ACCHI N E PER STIRAR E 
I RO N I N G EQ U IP M E N T 

INSTRUCTIONS AND MAINTENANCE ················································ ····· ·· ·· ············································· ········ ······· ··· 

.V.4.P..Q.Rl..N..Q"J..N..QX. .. М.AXl. .. m.o.o..~ ... J.Q!: .. f!. 
Read the directions carefully before operatinq. 
Don 't use the machine differently from fol/owinq description. 

\1. SPECIFICATIONS 

MODEL: 
POWER SUPPLY : 

VAPORINO INOX MAXI mod . 2016 
230 V - 50 Hz. 

TOTAL INSTALLED POWER : 
IRON POWER : 
BOILER POWER : 
BOILER САРАСIТУ : 

IRONING ENDURANCE : 
OPERAТING STEAM PRESSURE: 
WEIGHT: 
OVERALL DIMENSIONS : 
MADE IN ITALY 

2100 W 
800 W 
1300 W 
2, 1 L. 
about З hours 
2,8 BAR 
8,2 kg 
26х36х28 h. cm 

----- - ... 
~~- - ...... __ ... ~----

/1 T
- HOOKFOR 

' ~ CABLE SUPPORT 

.L--- CABLE SUPPORT 

i 
\ SAFETY VALVE PLUG 

~ \ ~ ' ~',,, 

HANDLE 

CABLE SUPPORT 0 
HOLDER 

с:::::::, 

~ ELECТRIC WIR V IRONREST 

Vaporino Inox Maxi mod. 201 6 в 

IRON 

Fig . 1 

2016 



~ VAPORINO INOX ~it:.~.
1
~od. 2016 

al ferro da stiro ·· 

® See drawing representing 

0 ~~ ~ steam~iron 's spare parts 

G00049 _.,,,.,.--- '-rJi / ._Jj u г-----~-=:::: ZOOOOO 

~ G00041 V G00001 ------------ ~ .1 • 
G00026_~------------~~-~----~=--- G -------------Gooo42 

- ----=--------G00050 G00051 ~) ~ ~ 
G00022-~ - - ~ @ lU ;г--------GООО24 

~~~~~;~ 4') __.:-- ----cr~ ) 
G00009 ------------- 1------------- t!_) (~ ),l ~ ~CD о о ~ 

С) GOO~ ·, ,,. 11
, --- -...,..._,,,,,,- ®@'' ,•11· · ·t······--- / \/~'\ . 

G00052 
1 

'\ ( 
б ~\ ~,,.,;~,~t' G00008 -..: ._ ~ .,. 

/ \ \ 

' 1 
~ 1) 

М) -1 --;:::::::-1 

G00006/ J 1 .---- ; = 
VA0002--------!c-. 

vдоооз------._ 

G00014 

~~ 
/ ~ G00054 ,,,_- ЕЭ 

G00058/ ~ 

GОООЗ4/ tJ • 

G00132 

::::~: ---- - ____ // 
о 

о 

о 

о 

о 

~ VAI001 

о 

t 
j 
1 

VAPORINO !NOX МАХ! mod . 201 6 11/~~i -~)~ 



. • V3pori 110 lr1ox Maxi mod. 2016 
oescrizюr,e . 
дrt. : VAIOOO 

cod pz. 

G00001 1 

G00004 1 

G00006 1 

G00007 1 

G00008 1 

G00009 1 

G00010 1 

G00011 1 

G00014 1 

G00015 1 

G00018 2 

G00021 4 

G00022 1 

G00024 1 

G00026 1 

G00029 2 

G00032 1 

G00034 2 

G00037 1 

G00038 1 

GОООЗ9 2 

G00041 1 

G00042 1 

G00049 1 

GOOOSO 1 

GOOOSl 1 

G00052 2 

Gooosз 1 

GOOOS4 1 

Goooss 1 

G0007S 1 

Gоо1з2 1 

VA0002 1 

Descrizione 

Antenпa reggifilo Vaporino/Vaporbaby 

Poggia ferro epdm nero 

serracavo caldaie semiprofessionali 

Gommino passacavo grande 

cavo elettrico spina Schuko + саЫ . 

Morsettiera 2.5mm 12 poli 

Lampadina spia verde 010 

Lampadina spia arancio 010 

Valvota di sicurezza PED 1/8" 5 Ьаг 

Grafite per resistenza caldaia 

Morsetto рег гesistenza 

Piedino paracolpo рег caldaie 

Fascetta monorecchia 

Manico caldaia 

Elettrovalvola vароге compl. 1/4" famiglia con 
regolaz. 

Dado G 1/4" 

Raccordo У 1/8" F 

Raccordo а calzamento 06 - 1/8" М 

Pressostato 1/8" {1 -5 Ваг) tar . 2.8 Ьаг 

Manometro 1/8" 0-6 Ьаг 

Interruttore luminoso verde lбА 

Тарро valvota di sicurezza PED G 3/4" 5 bar 

Guarnizione OR tappo 3/4" 

Connettore 45 cm 

Dado G 3/4" 

Portagomma 1/4" м 

Rondella 1/4" 

Rondella 3/4" 

Resistenza pressofusa W 1300 рег Sole е Vaporino 
Inox Maxi 

Raccordo Т 1/8" М centr . 

Termostato 165° С + termofusiblle 298° С 

Tubo teflon d1am . бх4 ( lmt) 

Calda1a 2 lt. inox (рег Vaporino Maxi 2010 е Inox 
Maxi 2010) 

vдоооз 1 
lsolante caldaia 2 lt. (рег Vaporino Maxi 2010 е 
lnox Maxi 2010) 

VAIOOl 1 

zooooo 
Carenatura completa Vaporino Inox Maxi 2010 

~er_ro da sti_ro generico (specificare il modello 
esiderato in fase di ordine) 

Description : Va,ooгinu lnox Maxi mocf. 
2016 

Description 

СаЬ/е support for mod. Vaporino & Vaporbaby 

Black rиЬЬег iron rest 

СаЬ/е clamp for semi-professional boilers 

Rubber ring for wire 

Electric саЫе, fitted wit/1 Schuko plug with wiring 

2, 5mm termina/ board with 12 po/es 

Green pi/ot /атр (Z) 1 О 

Orange pilot /атр @1 О 

Safety valve PED 1/8" 5 Bar 

Graphite plate for heating element 

С/атр for resistance 

Buffer for boilers 

С/атр 

Boi/er handle 

Steam solenoid valve 1/4 w/adj ustment 

Nut 1/4" 

Y-joint 1/8" 

Joint (Z)б - 1/8" М 

Pressure switch 1/8" (1 -5 Ваг) 

Pressure gauge/manometer 1/8" 

Green boiler/iron switch 16 А 

Safety valve plug PED G 3/4" 

Gasket for safety valve p/ug 3/ 4" 

Connector with саЫе 45 ст 

Nut 3/4" 

Hose-holder 1/4" 

Washer 1/4 " 

Washer 3/4 " 

External heating element 1300W for Sole and 
Vaporino Jnox Maxi 

T-Joint 1/8" 

Thermostat 165°С + thermofuse 298°С 

Teflon hose diam. бх4 (lmt) 

Stainless steel boiler 2 lt . for Vaporino Maxi/Inox 
Maxi2010 

Jnsulating cover for Vaporino Мдхi and Vaporino 
Inox Maxi 

Casing for Vaporino inox maxi 

Iron 

Battistella 8 G S 
· , .r.l. Vapori110 lnox Maxi mod. 2016 

20/0512016 



{"type":"Document","isBackSide":false,"languages":["ru-ru"],"usedOnDeviceOCR":false}




{"type":"Document","isBackSide":false,"languages":["ru-ru"],"usedOnDeviceOCR":false}




{"type":"Document","isBackSide":false,"languages":["ru-ru"],"usedOnDeviceOCR":false}



